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e A H
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S T — 1T H 808 1,656 823 833
$5h) T —TH 555 1,299 636 663
$5h) T —=TH 760 1,618 831 787
3k  /hE * % 2,123 4,573 2,290 2,283
Z=oalil — 1 H 1,258 2,539 1,230 1,309
Z=oalil NE 1,227 2,287 1,114 1,173
Z=oalil —= 1T H 1,330 2,641 1,288 1,353
=il uTH 849 1,960 969 991
* %k /phE * % 4,664 9,427 4,601 4,826
E=IREe — 1 H 1,012 1,989 962 1,027
E=IREe —TH 1,023 2,150 1,021 1,129
E=IREe =TH 1,761 3,028 1,429 1,599
=Rk L E 1,129 1,785 856 929
* %k /phE * % 4,925 8,952 4,268 4,684
B — 1T H 1,001 2,005 993 1,012
)1 —TH 707 1,667 833 834
)1 =TH 1,206 2,616 1,281 1,335
)1 L E! 921 1,969 976 993
* %k /phE * % 3,835 8,257 4,083 4,174
PHET)I — 71 H 896 1,827 903 924
PRET)I| —TH 744 1,651 774 877
PRET)I| —=TH 377 818 384 434
PRET)I| T H 1,401 2,925 1,467 1,458
* % /pNEF % % 3,418 7,221 3,528 3,693
* k 2REE* % 43,283 83,300 40,332 42,968
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I T | Bk 7 z
FR AR —TH 3,086 6,329 2,954 3,375
FRAHT  — T H 725 1,488 734 754
FRAHT =T H 1,205 2,619 1,281 1,338
FOiRART PUTH 2,073 3,424 1,470 1,954
*k  hEE kk 7,089 13,860 6,439 7,421
o IR — 1 H 1,153 2,047 1,005 1,042
o AR —TH 983 1,973 1,004 969
o IR —=TH 1,478 2,863 1,418 1,445
o AR T A 689 1,442 711 731
o AR LT H 1,877 3,667 1,845 1,822
*k  hEE kk 6,180 11,992 5,983 6,009
VG iR —T1H 786 1,126 570 556
VG iR —TH 486 907 398 509
*k  hEE kk 1,272 2,033 968 1,065
TR —T1H 714 1,166 559 607
TR —TH 750 1,458 711 747
TR =TH 536 836 409 427
*k  hEE kk 2,000 3,460 1,679 1,781
HUFIIR — 1 H 2,083 3,163 1,430 1,733
HUFIIR —TH 866 1,393 634 759
HUFIIR —~TH 964 1,677 796 881
HUFIIR T H 421 619 314 305
TS 4,334 6,852 3,174 3,678
5 — T H 596 1,071 542 529
5 —TH 765 1,604 807 797
5 =TH 1,436 2,732 1,340 1,392
Y5 mTH 646 1,266 630 636
TS 3,443 6,673 3,319 3,354




